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1. (a)(6 %) 473§ " Laplace’s equation ; ?
(b) (6) #£#%E 2 & > Laplace’s equation ; &% A RERBH A LAY
(©) (8) s 8 4 — [Laplace’s equation | A T > LG HH ¥4 -

2. (%3 S) WwRAT —RRASAR ARy F&E (2=0) FHZLBIRE
W (V=0)> M z=dZRAE—BEXHEHq
(@ RKXLBRESFZM (z > 0) HEM
b)RELBETHZEM (2 < 0) WM £
C)RRLBRIEVBREBENEE

q
(d) 2HE B HA - L%wﬂéﬁw T¥
TR LEAEHENEY (linear dielectric, d
electrlc susceptibility 2 ) ' BsE g E / { ﬁ/
K& R KN E Y Lz bound surface charge
density Oy,

(e) 34k b > KK MNEHF L= bound charge & &
O BREE  RKEFEH 2 > 0) 4EM
@BHE  AKTFEH ¢ < ) HEHL

3.(HBAHR25) REEATHEESXMMEHRS " P o) AL T84 ¢
(a) magnetic field (b) magnetic dipole moment (c) permeability of free space
(d) magnetic susceptibility (e) polarization (f) self inductance (g) permeability of
free space (h) permittivity of free space (i) dielectric constant (j) electric potential

4.(19 ) #7148 %6 "Maxwell’s equations | (#45 HHEmA»HAHT) » EAXF B
dHE BB HPWEER -

5.(%/# 5 %) 4= B A7+, anonconducting (I ¥ #¥) spherical shell of inner radius a and
outer radius b has (within its thickness) a positive volume charge density p = A/r, where
A is a constant and r is the distance from the center of the shell. In addition, a small ball
of charge ¢ is located at that center.
(a) What value should A4 have if the electric field
in the shell (a < r < b) is to be uniform (34 %)
)? .
(b) HEE (r < a) BN EGHEBNT?
(c) REKEZS (r > b) HEFEBMT?
(d) 3t H sk 2 (shell) FImMRETE -
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